To solve the SS/Medicare shortfall why not use the APT tax


system? See the example below and visit www.apttax.com.





By using The APT tax system you get:


 a. A tax break for everyone that receives a paycheck


     (payroll deduction)..


 b. A Tax break for employers (matching payroll deduction).


 c. Elimination of the SS funding crisis for politicians.


 d. A simple system with results easy to track and almost


     real time collection of the tax.





A rate of 0.01% per transaction would raise $100 billion per


year which would more than offset the accumulating deficit in


the program. If you wanted to completely eliminate the


SS/Medicare payroll tax -- the most regressive tax we have


would take 0.19% per transaction or approx 0.095% per


transactor then toss in the other 0.01% to solve the problem


and you've got a rate of 0.105% or $1.05 per $1000 in


transactions (a $50,000 income which is all spent would be


$100,000 in transactions or $105 instead of 7.5% of 50K


or $3750 plus the $3750 the employer has to pay).





Sincerely


Gale DeVoar Sr


6214 Carew St


Ho, TX 77074 7412


713-771-6001





